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Section - A {(5x2 = 10 Marks)
Attempt all questions
1. Findxandyif

x+y 2]=3 2]
1 x—=yi 11 7

2 5 1 -1

.......................... =l |, find AB- BA.-1s AB=BAZ
2 If A= T3] -and B=| -y 7] find AB'and BA. Is AB=BA

Find A’ (x) when h(x) = (x% — x). (5x* + x?)
. Findy'wheny =+vx2+1
5. Find f(4x3 + 3x% — 2x + 5)dx

Section - B

Attemptanytwo questions (2x4=8 Marks)

1. Three persons buy cold drinks of different brands A,B,C. The first person buys 12 bottles of
A, 5 bottles of B, 3 bottles of C. The second person buys 4 bottles of A, 6 bottles of B, and 10
bottles of C. The third person buys 6 bottles of A, 7 bottles of B and 9 bottles of C. Represent
the information in the form of a matrix. If each bottle of brand A costs Rs. 4, each bottle of B
costs Rs.5 and each bottle of C costs Rs. 6 then using matrix operations find the total sum of
money spent individually by the three persons for the purchase of cold drinks.
2. Showthat :
Na. ko gy . . B
h b f —abc af2 bg ch2+2fgh
g f c

2%u  B%u au 2%u

3 Find 24 I 3x3y 3905 37 ===for the function:~

u = ax3+hx%y + by?



“Section-C

Attempt any Two questions
1. Determine the consumer surplus and producer surplus under pure competition for the

: . 2

w—mw——demaﬂdianeﬂewp%&xiand—suppw#uneﬁen—pzé—ﬁ?whe;e—p-isme-pnieewanchsz--f% -

quantity. :

2. Differentiate:
1

@ e WX

(b)(x+1)(2x—1)
- (x-3)

- 3. Solve the following linear equations using determinants:

2a4y-z=3
x+y+z=1

x—2y—3z=4




